Analysis Name

( j Calculus — Chapter 3
Chain Rule and Trig Functions Pert Date

Find the derivative of the following:

L. y=(x3-—z)_2 2. f)=va+3lx
) e b= (4 +3%) (2%
e 2(-2) (<3

3. g(x)=cos’ (3J_) 4. h(x)= 3x sin® (4x)
(/x Zws(sd") [sm(?ﬂr)) [——X) h'(x) = (3)( Sl (‘fx)) (3 - Isiq () (cas(s‘x))(

&

Pl ==4| < - cos (8" z)] [’fx +sm(‘fx

m 5. f(x)= [x —cos( x* ——2 6. y—-\/cos 5x+2
(5 Y- & e 6] / Ly (et} ) (3C5x+2)")-(3)

7. 8(x)=sin3(cos(2x)) 8, hlaye sinyx + /__—smx
ﬁl(/‘): SSIAZ/WS(ZK))-[&95(593(2)0))-[,sm(z)()).(Z) {)() Apsd— (L Z(ﬁm)() (cosx)

9. Use the gwen table of values to find the followmg derivatives:

g'(2) where g(x)=[ f(x) ]3 @(x) 3[%()] R0, x |fo) | f(x)

(2 [ 2| :
| ) W (2) where h(x)zf(xB) y > 3{ j ? /1 S 15 5
W) pi) - B
Wy B 3 = () | 3

)
-
-






















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































10,

P < [0 ] f(x) [209 [ &) )
112 |3 N | \
2 [0 4 TU 05 ] Flog=46w) 96

Find F’(—1) where F(x):f(g(x)) ];r(- l>= '@((ﬁ(’l)) . ﬁ(—)l)
s () - (-3
Find G'(~1) where G(X)=g(fg:&) )> P : ) o
G(x) o (46 (x
Ly =9 (=> 3 = (XI5

11. A mass is bouncing up and down on a spring hanging from the ceiling. Its distance,
y feet, from the ceiling varies sinusoidally with time ¢ seconds, making a complete cycle
every 1.6 seconds. At ¢=.4, y reaches its greatest value, 8 feet. The smallest value fory

is 2 feet. &s;? (-4, 8) (2, 3’)
a) Draw a graph of the problem situationﬁ\(} ’ ’E S J k=3
=l e
({_2/ ;) %:%‘ o8 ¢ 4
>
. ﬁ _S-f((jl'ftp—s-

b) Write an equation for y in terms of «. /j z 6 L0S [;Z;_r (?C = Z):I +5D (

¢) How fast is the mass moving and in what direction arr =17 =15 2 =277

\M[M% Gt ‘ﬂ]{@ 7 %L" -3 [%ﬁ(xfz)] =

()< - 230 U9z okt
d) What is the fastest the mass moves? ‘

A (23)= - Fse
yse cole h Bnd MC\X%@ ﬂ/@ = )
iz ssin(pwsecs
/a/ . /5% 40 f |

































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































